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Abstract:Highlycomplexnumberhaveparticularproperties.Inordershowthoseproperties

mathematically.Firstofall,wewilldefineanewfonctionslinearcombinationsoffactorsthat

wewillnoteit&n(ai;a'i)foralln,iinINandaicoefficientstoutcombine.Secondly,wewill

considerandshownewmathematicalsetwithadditiveandmultiplicativelawswhichare(IRn;+;

×).Lastly,weshowthatforallninINwehave(IRn;+;×)=Hln.
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Lenombreshautementcomplexontdespropertiesintéressantautantquecorps.Dabortnous

définirunenouvellefonctiondecombinaisonlinéarnonrépétitifayantunordrenappartenantà

INquenousallonsnoté&n(ai;a'i)aieta'iétantlescoefficientsàcombinerpourtouti

appartenantàlN.DeuxièmenousallonsdotélRnuneloiadditifetuneloimulplicatifpourainsi

montreque(lRn;+;×)sontdescorpsquelquesoitlenappartenantlN.Nousallonsaussimontre

enplusêtreuncorps(lRn;+;×)=Hln.

Définition:(Fonctiondecombinaisonmulplicatif)

Soit&n(ai;a'i)fonctiondecombinaisonlinéarnonrépétitifayantunordrenappartenantàINetai

eta'iétantlescoefficientsàcombiner.&n(ai;a'i):lRn|------->lRcetfonctionassociéslesvecteurs

(ai;a'i)associésaurésultatduproduitdevantlesnombreshautementimpossibledela

multiplicationdeAetBappartenantàHln.



Exemple:Pourn=1&1(a0;a'0;a1;a'1)=&1(a1;a'1)=a0a'0-a1a'1

Pourn=2&2(a0;a'0;a1;a'1)=&2(a1;a'1)=a0a'1+a0a'

Démonstration:

NousdotantIRnlaloiadditif+etlaloimulplicatif×montronsmaintenantque(lRn;+;×)estun

corps.Nousdéfinitionlaloiadditifetmulplicatiftoutendémontrantque(lRn;+;×)comme

suivant:

0appartementàlRnetestuniquedanslRn.

Démonstration:(Hln=(lRn;+;×))

Noussavonsquelesvecteursontécriturealgébriqueavecdesvecteurunitaire.



Nousallonsfairemaintenantunedémonstrationquiàunconséquencesmathématiques

totalementbouleversant.

Démonstration:(lK=C)

Conclusion:

Nousvenonsdedémontrécetégalitéimportant:

PourtoutnappartenantàINona(IRn;+;×)=HIn=IK=C


